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o :> I=j:=ID, n=m:=Y
» Child(i,n,j,m) )+ o
\ ¢ (i,n,J,m)
passR!
maxf(n,m) passL?K.| e . Y&
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passL?K.|
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Child i=j:=ID, n=m:=Y

»( Child(i,n,j,m) )< o

passR!
maxf(n,m

passL?k.|

passR!
maxf(n,m)

Child(i,n,j,m) = pass.right(i)!j.maxf(n,m) -> pass.i?k.l -> Check(i,n,k,]) []
pass.i?k.l -> pass.right(i)!j.maxf(n,m) -> Check(i,n,k,I)

Check(i,n,j,m) = if (i==j) then End(i,n,m) else Child(i,n,j,m)

End(i,n,m) = if (h==m) then disp.i.m -> SKIP else SKIP



Sys = (|| i:1d @ [Ev(i)] Child(i,read(list,i),i,read(list,i))) ¥ {|pass|}
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Spec = || Id@[Ev2(i)] if (read(list,i) == maxI(list))
then disp.i.read(list,i) -> SKIP else SKIP
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- BYOKRAKE
- A%

Nat = {0.N} - BEHOEA
Id = {0..(M-1)} -- fBAID

right(i) = (i+1)%M - BB DID
list = <0, 1, 4, 2, 1> -- ¥HAE

--read(s,n) FIsDEDEFHHT

read(s,0) = head(s)
read(s,n) = read(tail(s),n-1)

e T—5E0 (B, R, FrRILGE)

maxf(n,m) = if (n > m) then n else m

-- maxl(s) Flsh DmKEERT

maxl(<>) =0
maxl(<n>) = n
maxl(<n>7s) = if n >= maxl(s) then n else maxl(s)

-- channel E8

- pass.i.k.n  EBEHDINIATHEK.NEEZE
-- disp.k.n BAENKIEFAEEDID)ERT

channel pass : Id.Id.Nat
channel disp : Id.Nat

- JatR

Child(i,n,j,m) = pass.right(i)!j.maxf(n,m) -> pass.i?k.| -> Check(i,n,k,l) [] - &IZEIZEE
pass.i?k.| -> pass.right(i)!j.maxf(n,m) -> Check(i,nk,l) -- E£IZEMNDZIE

Check(i,n,j,m) = if (i==j) then End(i,n,m) else Child(i,n,j,m) -- BHDIdNES1=6#E&T

End(i,n,m) = if (n==m) then disp.i.m -> SKIP else SKIP

G TOERE (MITRT L, EFHFLEE)

Ev(i) = {| pass.i, pass.right(i), disp.i |}
Sys = (|| i:1d @ [Ev(i)] Child(i,read(list,i),i,read(list,i))) ¥ {|pass|}

- R RRENdispASIBERRICH ASh b
Ev2(i) = {| disp.i [}
Spec = || i:Id@[Ev2(i)]

if (read(list,i) == maxI(list))
then disp.i.read(list,i) -> SKIP else SKIP

- FREEED GEAMERAGR. TorOY IR E)

assert Spec [FD= Sys

assert Sys [FD= Spec 1 7
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- BHOKRKIE
- A%

Nat = {0.N} - BEHOEA
Id = {0..(M-1)} -- fBAID

right(i) = (i+1)%M - BB DID
list = <0, 1, 4, 2, 1> -- ¥HAE

--read(s,n) FIsDEDEFHHT

read(s,0) = head(s) \]avajo D 7\5 A

read(s,n) = read(tail(s),n-1)

— maxf(n,m) nhmOKENHEES (\]CS P%’rj‘% U 1%% )

maxf(n,m) = if (n > m) then n else m

-- maxl(s) Flsh DmKEERT

maxl(<>) =0

maxl(<n>) = n

maxl(<n>7s) = if n >= maxl(s) then n else maxl(s)

-- channel E8

- pass.i.k.n  EBEHDINIATHEK.NEEZE
-- disp.k.n BAENKIEFAEEDID)ERT

channel pass : Id.Id.Nat
channel disp : Id.Nat

- JatR

Child(i,n,j,m) = pass.right(i)!j.maxf(n,m) -> pass.i?k.| -> Check(i,n,k,l) [] - &IZEIZEE
pass.i?k.| -> pass.right(i)!j.maxf(n,m) -> Check(i,nk,l) -- E£IZEMNDZIE

Check(i,n,j,m) = if (i==j) then End(i,n,m) else Child(i,n,jm) -- B DIdHES=58E T ( _— 0)15“ —Cj I:l 7“7\/7“ (j: 2 H# FEﬁ *EEr_

End(i,n,m) = if (n==m) then disp.i.m -> SKIP else SKIP

- TOEROER
ESvy(ls)::({||| F?Zsé ?Ea\f;i.)r]i%hr:i(lgii,drijzf\)('ii(llizt,i),i,read(list,i))) ¥ {|pass|} % *JJ o) ; ?i- F? *’* ) L E &% ItL‘,\*L-t
-~ R B EA dispA SIEREISH HEh D Ia_ 75§ 1 O .GT: 75§ . %*Léﬂ%IE f& 'j:

Ev2(i) = {] disp.i |}

Spec = || i:Id@[EV2()] 1&0)15_'if¢;bo

if (read(list,i) == maxI(list))
then disp.i.read(list,i) -> SKIP else SKIP

e

assert Spec [FD= Sys
assert Sys [FD= Spec
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{+§% (FDRRH)TR)

- #EfE P.1

- BROEKIE
- A¥

Nat = {0..N} --BHOES

Id = {0..(M-1)} -- BAID
right(i) = (i+1)%M -- HBEDID
list = <0, 1, 4, 2, 1> -- ¥HAE
-- read(s,n) FsDBEHFEHRAHT

read(s,0) = head(s)
read(s,n) = read(tail(s),n-1)

-- maxf(n,m) nHhmD RKENFZFIRY

maxf(n,m) = if (n > m) then n else m

-- maxi(s) Flsh DEHRKIEEZIRT

maxl(<>) =0
maxl(<n>) =n
maxl(<n>7s) = if n >= maxl(s) then n else maxl(s)

-- channel €&
-- pass.i.k.n
-- disp.k.n

EREMDIiNIAHEK.NEEZIE
EAENKIFFAEEDID)ZRT

channel pass : Id.ld.Nat
channel disp : Id.Nat

- 7Ot P.2
Child(i,n,j,m) =

pass.right(i)!j.maxf(n,m) -> pass.i?k.l -> Check(i,n,k,l) []

pass.i?k.l -> pass.right(i)!j.maxf(n,m) -> Check(i,n,k,l)
Check(i,n,j,m) = if (i==j) then End(i,n,m) else Child(i,n,j,m)
End(i,n,m) = if (h==m) then disp.i.m -> SKIP else SKIP
- TAERDER

Ev(i) = {| pass.i, pass.right(i), disp.i |}

Sys = (|| i:ld @ [Ev(i)] Child(i,read(list,i),i,read(list,i)))

¥ {|pass|}

- {5k R KELdispMBIERRICH hEhd
Ev2(i) = {|] disp.i |}

Spec = || i:ld@[Ev2(i)]

if (read(list,i) == maxI(list))
then disp.i.read(list,i) -> SKIP else SKIP

- il

assert Spec [FD= Sys
assert Sys [FD= Spec
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